ANSWERS - VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS

Chapter 2, Bar Subject to Extension problem 2.27-1-3, page 61

Remarks: See 8§2.3, pages 24 till 26

See 8§2.6, pages 34 onwards

Answers 2.27-1:
a. N® =440 kN

b. 9 =0,833 %o
C. Uy.g=+3,0mm

Answers 2.27-2:

N® = 115 kN

£® =0,313 %o

N® =430 kN
£® =0,625 %o

Explanation 2.27-1 till 3:
The three sections are numbered from the left (1) to (3).

EA=48x10° kN

3 3 N(i)((i)
_ (1) () _
s = 2,600 =3
" i=1 i=1 EA

a NO —45kN N® — _20 kN N® — 125 kN Uy Is also obtained from the area under the s-diagram of question b.
b. é=0104 %  £®=-0,417 % £ =0,521 %
C. uX;B = 0

Answers 2.27-3:

a. N® =_32kN
b. ¢® =-0,667 %o
C. Uy.g=-3mm

N® - _48 kN

£® = 1,000 %o

N® =412 kN
£® = 0,250 %o
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